Name:

(Dividing Money - Bosic)

a. $16.25 +5 =

b. Kali and Susan earned $360.00

haov

d. Marco bought 3 pounds of

bananas for $1.74. How much did
the bananas cost per pound?

Show your work.

answer:

Preview

Please log in to download
the prinfable version of this worksheet.

answer:

4)$832.00

f.

Henry spends $69.00 on 6 video
games. Each video game costs
the same amount. How much
was each video game?

Show your work.

answer:
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ANSWER KEY (Dividing Money - Bosic)

(Division)

a. $16.25 + 5= $3.25 d. Marco bought 3 pounds of
bananas for $1.74. How much did
the bananas cost per pound?

answer: $11-50

KH
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